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QUESTION 1

Which category of SQL statements is used to add, remove, and modify database structures?
A. Data access language (DAL)

B. Data manipulation language (DML)

C. Data control language (DCL)

D. Data definition language (DDL)

Correct Answer: D

QUESTION 2

The following illustration shows backup strategies that use the simple recovery model and the full recovery model:

Database backup simple recovery model Database backup full recovery model
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Instructions: Use the drop-down menus to select the answer choice that completes each statement. Each correct
selection is worth one point.

Hot Area:

Answer Area

Using the simple recovery model for datebase backups provides

v
[answer choice] work-loss exposure than the full recovery model. T

more |

thesape
Using the simple recovey modcel for datebase backups provides . -
[answer choice] log file backups than the full recovery model. |ess

mare

the same
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Correct Answer:
Answer Area
Using the simple recovery model for datebase backups provides I
[answer choice] work-loss exposure than the full recovery model. o
more |
thesanes
Using the simple recovey model for datebase backups provides - -
[answer choice] log file backups than the full recovery model. less
mare
the same
QUESTION 3

Instructions: For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct
selection is worth one point.

Hot Area:
Answer Area

Description of Eehavior Yes No
A full database backup is a copy of all of the C:- o/

data in the entire database.

A transaction log backup backs up all the [e) O
data in the database.

A differential backup copies only data that {} Q|
was changed before the last full backup. i

A file or filegroup restose specifies a porion | () O
of the database to recover. n '

Correct Answer:
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Answer Area

Descnption of Eehavior Yes No
A full database backup is a copy of all ofthe || ®
data in the entire database. '
A transaction log backup backs up all the O O
data in the database.
A differential backup copies only data that & O]
was changed before the last full backup.
A file or filegroup restose specifies aporion | (| O

of the database to recover,

QUESTION 4

This question requires that you evaluate the underlined text to determine if it is correct.

First normal form requires that a database excludes repeating groups.

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the

statement is incorrect, select the answer choice that makes the statement correct.
A. No change is needed.

B. Composite keys

C. Duplicate rows

D. Foreign keys

Correct Answer: A

QUESTION 5

You ate creating a database object named Student to store the following data:

ID Name  Age
11 |Rene |18
2 |ma |

3 Oliver | 25

Which syntax should you use to create the object?
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CREATE TABLE Student (
ID INT,

Name VARCHAR([ 188 ),

Age INT )

CREATE |(

TABLE Student

ID INT,

Name VARCHAR(1&d),
Age INT )

CREATE Student (

ID INT,
Name VARCHAR(198),

Age INT )

CREATE TABLE (

ID INT,

Name VARCHAR(1@8),
Age INT )

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A
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